


A1{3,60m x 0,8 = 2,88m,

A11:3,60m x 0,8.= 2,88
‘A12: 1/3 (8,78m-3,60m)
A13: 6,0m x 0,8= 4,80m
A14:5,10m x 0.8 =4 08m

A18:5,10m 0,8 =4,08m

AJ'und Ab, A7 und AS, A12
Die Abétandsflache

raduziert,
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‘Abstandiidchenberechnung - | -

wird in all
x e o

i 3m
 A2{1/3 (9,10m-3,60m) x 0, 844,60 ¢

A10:1/3 (8,75m-3,60m) x 0,8 | 3,60m x 0.8 4,26m

%08 §3,60m x 0,8=426m-

© A15: /3 (7,82m-5,10m) x 08 Jl_u;\ x08-480m
A17: 4/3 (7,82m5,10m) x 08 45,10m X 0.8- 4,80m  + *

- €2 Gbgrlagem sich die Abstarkhiich ;

A13, A8undA1S . - | .
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